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42 Eikp3 34% 451 &= 53 2,424 851.84 17 22 0.35 590 69% 30 =8 11.5 FIAR T+ T —K 320 245 215 130
& 1,948 684.67 17 20 0.35 485 1%
4% Eifs3 34% 3.46 47 30 =8 10.2 FIAR T+ T—K 749 180 215 100
Z DL 391 32.88 13 12 0.08 10 30%
TATY 571 552.48 21 34 0.97 330 60%
9h Eifs3 30% 5.27 67 10 =8 10.4 SR THT—K 402 10 245 80
Z DL 88 7.91 9 16 0.09 5 63%
TAhATY 867 840.41 21 34 0.97 490 58%
9m Eikp 30% 8.02 67 10 =8 10.4 SR T+ T—K 758 20 375 100
Z Dbl 134 12.02 9 16 0.09 5 42%
ThAY 1,076 1041.68 21 34 0.97 626 60%
9kL1(1) Eikp3 30% 9.90 67 10 =8 9.6 J=SyN THT—K 472 29 476 125
Z Dbl 166 14.91 9 16 0.09 4 27%
ThY 205 198.42 21 34 0.97 119 60%
9k1(1) Eikp3 30% 1.93 67 10 s 10.4 J=SyN T+ T—K 758 6 89 25
Z DL 32 2.84 9 16 0.09 1 35%
Th<Y 851 210.05 13 20 0.25 130 62%
101%5 Eifs3 34% 2.34 49 10 =a 10.3 FIAR THT—K 263 0 115 25
Z DL 175 21.95 11 16 0.13 10 46%
&= 474 169.21 15 22 0.36 120 1%
10561 1% 32% 0.84 47 30 =8 11.4 FIAR THT—K 392 40 55 30
Z DL 55 17.96 15 24 0.33 5 28%
B/ * 719 185.51 16 20 0.26 115 62%
, 1062 X 33% 0.98 — 47 30 =8 11.4 FIAR T+ T—K 392 20 75 20
DL 12 14.85 14 14 1.24 0 0%
E/F 2,151 44994 14 18 0.21 290 64%
10H°2 Eifs3 33% 2.76 49 30 =8 11.4 FIR THT—K 392 105 115 70
Z DL 35 6.56 13 20 0.19 0 0%
&t 261 92.68 15 22 0.36 65 70%
10&3 Eikp3 31% 0.46 47 30 =8 11.3 FIAR THT—K 45 20 30 20
Z DL 30 9.84 15 24 0.33 5 51%
b/ * 896 230.93 16 20 0.26 150 65%
10k6 Eikp3 33% 1.22 46 30 s 11.6 FIAR T+ T—K 476 30 75 45
Z Dbl 15 1.53 14 14 0.10 0 0%
b/ * 1,114 283.92 16 20 0.25 185 65%
10k8 Eikp3 33% 1.50 46 30 s 11.4 FIAR TH+7—K 392 50 85 50
Z DL 19 1.88 14 14 0.10 0 0%
B/ 601 155.23 16 20 0.26 100 64%
104k10 X 33% 0.82 46 30 =8 11.6 FIAR THT—K 476 30 50 20
Z DL 10 1.03 14 14 0.10 0 0%
10%2 Eikp3 31% 3.54 B/ * 47 2,167 733.26 17 22 0.34 475 65% 10 s 11.5 FIAR T+ T—=K 203 140 235 100
TATY 483 119.37 13 20 0.25 70 59%
10%3 Eifs3 34% 1.33 47 10 =8 10.4 FIAR THT—K 392 0 60 15
Z DL 101 12.47 11 16 0.12 5 40%
E/F 3,763 788.98 14 18 0.21 505 64%
10422 Eifpd 33% 4.84 o1 46 15 =8 11.4 FIR THT—K 392 180 230 100
DL 61 11.50 13 20 0.19 5 43%
&5t 53.72 21,895 7758.71 4,900 1,105 2,740 1,055
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